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SA 2RAXE D
M DMOIE QIAMEAHIA FID
cHel: OIELE CIAMHIA B (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Hzgs BlEAEIA NS 17,434 4,048 13,386
= 16,494
- 940
HAAMRUEY BHIEx 17,434 4,048 13,386
= 16,494
- 940
201 Zet=3h] 16,494 1,668 14,826
= 16,494
01 At2teltl 16,194 1,368 14,826
oz =3 2,426
oOx2F 7Y 2,426,000& 2,426
= 2,426
OSEHI(AIIEH MM 0tZ)
8,000 1 +841« 12 768
= 768
Oz sdxd 13,000,000& 13,000
= 13,000
2 35244l 300 300 0
Og=uie SH= 160,000& 160
= 160
O EHl 2= 140,000 140
= 140
202 04| 940 2,380 1,440
01 2L A LI 940 2,380 A1,440
ONZER UF & 32/FA
230,000 *22] 460
OZLHOBI (Al EHRIH DM OFS)
20,0003 x1H 22«12 480
dEsteEl EXI, NEIHAAY 25 1,833,457 1,973,435 139,978
= 97,890
- 1,735,567
HEH, MAH XH2L 119,289 249,181 A129,892
= 5,000
T 114,289
INESRE oY 119,289 249,181 A129,892
= 5,000
- 114,289
101 @124H| 5,000 0 5,000
= 5,000
M ORINZZ2NSE S 5,000 0 5,000
OXIH 2l At 5,000,000& 5,000
= 5,000
201 =3 83,860 76,021 7,839




SA XA
M M2t EX, NEHAFAAY 25
Cel: M2H, MAHH X2 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 68,473 60,634 7,839
2et-EH| 2,054
OXNHST & S 225, SA7Y 2,054
OXH=SZ T Bl
35,0002 10H 350
O=X0ISA 22A Bield
15,0002 +20H 300
=22 U HUE 23 Hiol
15,0002 % 10H 150
@==H SXI(A0) 25,0003 +62 150
==t 23 60,0003 4 S+4S 960
OCHEE 18,000 +8& 144
OXNHZ A HAtStALS 40,000,000 40,000
ONEZ2I|EE 9ispel +42 21,639
ONEAALER, NHCIH
13,8002 *1,568% 21,639
ONFZIES 270 UE S2442
180,000& »258 4,500
O=g=¢ 280
OXE?Hs HH+E
70,0002 x4 *13] 280
2 S5=2g4l 16,387 16,387 0
OAlZ &I Xl 16,387
ORSUSESRAIAE AZERN FAl
2= 14,264,800& 14,265
OXHHSR AR SHH|
187,000& +6& 1,122
202 04| 810 810
01 =LHO LI 810 810
O2t2l(t| 810,000 810
203 HR=H] 350 350
03 A=A 2= 350 350
OFLAIHFA 350,000 350
405 KHoHFSHI 29,269 29,269
01 ML ESFSHI 29,269 29,269
OXX AL e=2esI Wkl
10,000,000& 10,000
OOISAAIHSL2) 2 JHEIY PY
19,268,250 19,269
2 F=aMA 2= 144,899 115,237 29,662
28 ¥ FAFEAL 2 144,899 115,237 29,662
201 er2 3| 37,708 43,112 Ab,404
01 AtR2telHl 6,030 10,930 4,900
Odgt+==H| 5,400
OAlEF4at 7Y 54,000 100K 5,400
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SA XA
Hu: M2slE EX, AMBTAAL 2=
Rl B2 FaHMA 2= (Gt H2)
SA - B BRA(SH) - HRA - of v e HIDE2
O=g+g 630
OFAHEAG BuLY
70,0002 0 *13] 630
02 S3=gHl 31,678 32,182 A504
02223 11,678
OE2AFL DS SEYS
2,530&3 %2, 7508 6,958
OAOHEKAIS 2| !
30,0002+ 122520 720
OFAFBAIL Yot0l T2 CHel - HES
2o 282 4,000,000 4,000
OFATEAL YRZAF S 242
20,000,000 20,000
202 04l 810 810
01 =LHA LI 810 810
OZ2/04H| 810,000& 810
203 =8| 300 300
03 A=A PR FZ| 300 300
OFLAIFF 300,000& 300
401 AIEHIZ R 0HYI 47,900 43,600 4,300
01 Al&H| 47,900 43,600 4,300
OAl&H| 47,900
e EF 230,000 100K 2~ 23,000
OFAFEANE RXNE+
24,900,000 24,900
403 AXIEHHSAH=201H 58, 181 27,415 30,766
02 SO 2SOt st =& 2 E AL H] 58,181 27,415 30,766
OF2ZE2e|AAE 2Y 39,173
OXIAITH AIAES Qlzet =8
18,650,000& 18,650
OCIoIE SE/d& 1,850,000 1,850
OGISAHZE! S/W FXIZ==H] 2,518,000& 2,518
OKAIS2E X 16,155,000& 16,155
O=ad=2JI2k sds A
19,008,000 19,008
CXEXNS, SLHEEALY 2= 1,384,634 1,443,329 /58,695
= 65,206
- 1,319,428
K THZEALALS 1,311,206 1,417,201 105,995
= 65,206
- 1,246,000
201 =3 49,561 73,630 A\24,069
= 3,911
- 45,650




SA XA
M M2t EX, NEHUFAAY 25
=l CIXEXNHE, SUAIEAAY 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 38,061 62,850 N24,789
ER=last s all 33,911
OXHMEAL 283 82
50,0002 «200& X|*3X| 30,000
OXHEEAL JIEE =]
69,3003 *358 2,426
= 2,426
(©Fageta] 381,000& 381
= 381
(©F=FE 8,000 x3&*233] «2& 1,104
= 1,104
OXHMEAL E22 MA 1,000,000 1,000
2g+E 3,180
OXEHMEAIRE2 BA+E
70,00021+624*43] 1,680
CEP EEE LRV P
70,0002 7 H+33] 1,470
02 S3=4gl 11,500 10,780 720
OB3R3 11,500
ORHIY HIZZAIAE S| SMR
55,000& * 122 660
OXHMZAL SN2 RELER
2,5303 *4,000& 10,120
OXNAEMEAIH R L& SHI=/H
720,000 720
202 O4H| 1,620 1,620 0
= 1,620
01 =LHAHI 1,620 1,620 0
OZLH0AHI 20,0003 3 »27 1,620
= 1,620
203 HR=H] 350 350
03 A=A 2= 350 350
OFLAIHFA 350,000 350
301 EtE N = 1,200,000 1,200,000
14 DBt 2 a3 1,200,000 1,200,000
OXIETHEAAE =83
1,200,000,000& 1,200,000
403 AXIEHHSAH=201H 59,675 106,401 N4B, 726
= 59,675
02 SISOt =2 A P E A I 59,675 106,401 NG, T26
OXIETHEAL =]
238, 7003 #2502 K| 59,675
= 59,675
FoEE)| 2g & SUHIE Vgt 24 73,428 26,128 47,300
201 eer23y| 27,548 24,748 2,800




SN RIRTR DY
M M2t EX, NEHUFAAY 25
ol OXEXE, SUFEEAAYE A= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 8,270 12,935 N\4,665
Odit==H| 2,470
O3HEE 2d ~2E 2,270
@& = HiEc 230,000 x2H 460
O==ZH 105,000 x2& 210
o5 HHT M U &
1,000,000& 1,000
OANFES 7Y 50,0002 128 600
OFgEI| #H| ==l 200,000 200
ORI =BA HAS u=F
2,800,000& 1 2,800
OGIS M2 W= 3,000,000& 3,000
02 S3=4gl 19,278 11,813 7,465
OAIZ2 &= X 14,513
OArcGIS =XI2==H| 8,513,000& 8,513
OFogs)| & 2EIHl KA
3,500,000& 3,500
ORolgs)| teltis 2t
500,000 *5CH 2,500
03323 4,765
O EE HILIY 2| SHE
69,000 x50 * 122 4,140
oY 0lE= 625
02 0IE= 49,5002 x 128 5%4
o3tz & XY 30,800 31
202 04| 1,380 1,380
01 =LHOLI 1,380 1,380
o220l 1,380,000 1,380
403 AXIEHMSAH=0l 44,500 44,500
02 SIS0t =S A A 44,500 44,500
Oa2s 52 S5t 7 U=Y|
44,500,000& 44,500
et NISAl & S8 HAHEA 2E 184,635 165,688 18,947
= 27,684
- 156,951
FS&HHE M2t 13,650 13,650 0
201 et 3| 8,990 8,990
01 AtR2tc|Hl 7,472 7,472
Oget=ZH] 7,472
OSSN AA X 2
50,0003 =22 A 100
oORsd BW++2 REH S U2 X
= 2,000,000 2,000




SA XA
M M2t EX, NEHUFAAY 25
CHel: MEB XJIEAl L 2SA HARA Y (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONLR= HEHIE stZEel 29
2,000,000& 2,000
ONeRgs FUUHLEXN ST AE Xt
ABa42 43,6002/ %202 X| 872
ONLRYS PUHABR HEIIES
= 1,250,000 #2042 2,500
02 S5=g4l 1,518 1,518 0
ORsStzz| 92 olg 2 2H2
2,530 %502+ 122 1,518
202 048l 810 810
01 2L AL 810 810
OZ2|0tl 810,000& 810
203 =] 350 350
03 A=A 2= 350 350
OFLAIHFA 350,000 350
301 EtE NS 2,500 2,500
14 IIEt2 83 2,500 2,500
ORSHSHY ALl dlEas
500,000& 12 500
ORSHEH ANEMS
2,000,000& %12 2,000
802 gtetsJIEt 1,000 1,000
03 JIEIEtE =S 1,000 1,000
ONgees TILs 233
1,000,000& 1,000
HESAIXIOL &HE, BAl 170,985 162,038 18,947
= 27,684
- 143,301
101 @1A4H| 110,006 91,059 18,947
= 8,720
- 101,286
04 JIZtN2 2N S 2+ 110,006 91,059 18,947
ONESAIXIIL DA 2182 110,006
©1.1 JIE XIJtEAF 2 A 85,187
o= 79,6703 x5 *130 51,786
= 8,720
- 43,066
0F=52rE 79,6703 53 »60! 23,901
Q=S 100,000& x5 +6E 3,000
O=0HHI(nSHl, S4lHl)
10,0003 x5&*130 6,500
O7.1 JI1ZE XIIJtZAF ¥ AHE 16,202
o= 79,6703 »2& *632 10,039
0RsS=erY 79,6703 2 »27rd 4,303
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SA XA
Hu: M23E EX, NNBTAALY 2=
el At AISA & FS4 HHEM 2 (Gt H2)
S - B - S9I(3) - ARA of v e HIDE2
otEg 100,000 2 +3Z 600
®=CitI(REHI, 2461
10,0003 x2&E +63 1,260
O4i2E JI2RY= 8,616,240% 8,617
201 2= 59,539 59,539 0
= 17,524
T 42,015
01 At2tltl 59,539 59,539 0
ER=last sl 55,051
OMNEZAIXIL S8 44,036
@1.1 Il &FXIt
43,6002 * (27,0002 XI /302 XI) 39,240
= 15,836
- 23,404
@7.1 J1= &EXDt
(43,6002 *4002! X| ) *50%+*30% 2,616
@2 HNE # 0124FE 2l
(43,6002 *100Z! XI ) *50% 2,180
OHNESAIXI AAEX 7L
45,0002 x58¢ A 225
O==2H S 7Y 25,000& +502 1,250
CECEIE
60,0002 x44410S 2,400
OQIHESAIXIL EXF & A Q1M MZH
1103 %22,0000H 2,420
OHNESAIXIL Hatd tE HAS -
300, 0002 *2H 600
OQIHNESAIXIL LY B0 HIH
60,0002 137 *43] 3,120
O=RStIASAIAZES deliiz M
1,000,000 1,000
O=2g+¢ 2,800
OSSLINIABAIRIRE 310 BMay
70,0002 x8H+53] 2,800
@=] 1,688
OSZ2&& sS4l 8,000& x2114] 1,688
= 1,688
202 04| 1,440 1,440 0
= 1,440
01 =LHA LI 1,440 1,440 0
OZLH0AH| 20,0003 x3& 24 1,440
= 1,440
AH 2 ZHI 166,051 182,138 16,087
olA2HH(2IRXI=D) 107,455 110,774 A3,319
olE =gl 107,455 110,774 23,319




2A:

mo: mmey
ool oI PUHI(VUAXIXDL) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 107,455 110,774 23,319
01 B4 103,497 106,934 A3,437
OZNUTR4Y 108,497
oA 2ReY
12,3213 x3BA| 2+20E* 123 103,497
02 JIEtA = 3,958 3,840 118
SENE=EPS=] 3,958
OAIIA2 24 AIZHESALIIA 12)
9, 1602 x18AI2H2H 123 3,958
(22 AX= D) 58,5% 71,364 N12,768
Jl=23H] 58,5% 71,364 N12,768
201 eer23y| 24,576 25,344 AT68
01 AtR2t2|HI 24,576 25,344 AT68
OJI2 A2l 21,0002 x24H 122 6,048
@r=1] 16,128
OSZMESAI
8,000 x21H 841« 12 16,128
Oogxz 2,400
O=AD| gitz 200,000 «1CH*12& 2,400
202 04| 30,240 42,240 212,000
01 =LHOLI 30,240 42,240 212,000
OZLH0iH] 20,0002 «21H+62 * 122 30,240
203 HR=H] 3,780 3,780
M EA2HER=AH 3,780 3,780
O21EA(25H0I5H 350,000& 122 «00% 3,780
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